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NEW QUESTION 1
Which two are true about data movement between a hon-CDB and a PDB using Data Pump? (Choose two.)

A. Tablespaces are automatically created as neeed while importing full exports in either a non-CDB or a PDB.

B. Oracle attempts to convert conventional database users to local users when moving schemas from a non- CDB to a PDB.
C. A new PDB is automatically created when importing a non-CDB into a CDB.

D. Oracle attempts to convert common users to conventional users when moving schemas from a PDB to a non-CDB.

E. Moving data from a PDB to anon-CDB is only possible by using transportable tablespace export and import.

F. Moving data from a non-CDB to a PDB is only possible by using conventional export and import.

Answer: DE

NEW QUESTION 2
Which two are true about gathering optimizer statistics? (Choose two.)

A. Executing DBMS_STATS.GATHER_DATABASE_STATS while connected to CDB$ROOT gathers object statistics in all open PDBs except PDB$SEED.
B. Executing DBMS_STATS.GATHER_DATABASE_STATS while connected to a PDB opened in read/write mode gathers object statistics for that PDB.

C. Executing DBMS_STATS.GATHER_DATABASE_STATS while connected to CDB$SROOT gathers object statistics only in CDBSROOT.

D. System statistics can be gathered only while connected to CDB$ROOT.

E. Executing DBMS_STATS.GATHER_DATABASE_STATS while connected to CDB$ROOT gathers object statistics in all open pluggable databases (PDBs)

Answer: BE

Explanation:
https://mikedietrichde.com/2016/10/21/gather-fixed-objects-stats-in-pdbs-as-well/#:~:text=Y es%2C%20you'l1%.

NEW QUESTION 3

A database is configured in ARCHIVELOG mode.

Full RMAN backups are taken and no backup to trace has been taken of the control file. A media failure has occurred.
In which two scenarios is complete recovery possible? (Choose two.)

A. when any archived log from, before, or after the most recent backup is corrupt.
B. after losing all copies of the control file

C. after losing an archived log from after the most recent backup

D. after losing an archived log from before the most recent backup

E. after losing the SYSTEM tablespace

Answer: DE

NEW QUESTION 4

Examine these actions:

* 1. Create a new database for a recovery catalog.

* 2. Create a tablespace with sufficient space in the catalog database for the recovery catalog.

* 3.Configure ARCHIVELOG mode for the catalog database.

* 4, Create a user to own the recovery catalog schema with quota on the tablespace that will containthe catalog.
* 5. Grant the RECOVERY_CATALOG_OWNER role to the recovery catalog schema owner.

* 6.Grant the SYSBACKUP privilege to the recovery catalog schema owner.

Which are the minimum actions that must be performed before executing the CREATECATALOG command?
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Answer: D

NEW QUESTION 5

A container database called CDB1 is OMF-enabled.

PDB_FILE_NAME_CONVERT is not configured in CDB1. PDB1 was unplugged from CDB1 earlier in the week. Examine this command, which will be executed in
CDBL1:

CREATE PLUGGABLE DATABASE pdbl

USING ‘/u01/app/oracle/oradata/pdbl.xml’ SOURCE_FILE_NAME_CONVERT =

(‘/u0l/app/oracle/oradata/’, ‘/u02/app/oracle/oradata/’); Which two are true? (Choose two.)

A. PDB1 data files already exist in the correct location.

B. DBMS_PDB.CHECK_PLUG_COMPATIBILITY must be run in CDB1 before executing the command.
C. PDB_FILE_NAME_CONVERT must be set before executing the command.

D. /uO1/app/oracle/oradata/pdbl.xml does not contain the current locations of data filesfor PDB1.

E. PDB1 must be dropped from CDB1.

Answer: AE

NEW QUESTION 6
Which three are true in Oracle 19c¢ and later releases? (Choose three.)
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A. If the password file location changes, then the new location is used automatically by the Oracle Server.
B. Schema Only accounts can be granted administrator privileges.

C. All the Oracle-supplied accounts are Schema Only accounts.

D. Privilege Analysis is included in Oracle Enterprise Edition and no longer requires Database Vault.

E. Unified Auditing can be configured to audit only events that are issued indirectly by an audited user.

F. Unified Auditing can be configured to audit only events that are issued directly by an audited user.

Answer: BCD

NEW QUESTION 7
Which three are true about Optimizer Statistics Advisor? (Choose three.)

A. It can berun only manually.

B. It is part of the DBMS_ADVISOR package.

C. It can recommend changes to improve the statistics gathering process.
D. It always analyzes all schemas in the database.

E. It runs automatically every night by default.

F. It is part of theDBMS_STATS package.

Answer: ACF

Explanation:

https://mikedietrichde.com/2017/08/22/oracle-optimizer-statistics-advisor-in-oracle-database-12-2-0-1/ https://www.oracle.com/technetwork/database/bi-
datawarehousing/twp-bp-for-stats-gather-19¢-5324205.pdf

NEW QUESTION 8
Examine this configuration:

> CDB1is an Oracle Database 12c Release 2 database containing pluggable databasesPDB$SEED,PDB1, andPDB2.
2> PDB$SEEDis openREAD ONLY

> PDBLlis openREAD WRITE

> PDB2iSMOUNTED.

> ORACLE_HOMEis/uOl/app/oracle/product/18.1.0/dbhome_1.

You execute these commands before upgrading the database to the current release:
5 . oraenv

ORACLE SID = [cdbl] ? cdbl

The Oracle base remains unchanged with value /ull/app/oracle

$ SORACLE HOME/jdk/bin/java -jar preupgrade.jar TERMINAL TEXT

For which databases will fixup scripts be created?

A. CDB1, PDB$SEED, PDB1, and PDB2
B. PDB$SEED, PDB1, and PDB2 only
C. CDB1 and PDB$SEED only

D. CDB1, PDB1,and PDB2 only

E. CDB1, PDB$SEED, and PDBL1 only

Answer: E

NEW QUESTION 9
Examine these queries and their output:

EQL> select pdb name, name, pdb restore point, clean pdb restore point
2 from vSrestore point natural join dba_pdbs;

FPDE HNAME NAME PDE RESTORE POINT CLEAN FDE RESTORE POINT

FLEI Rl YES NG

e property name like “SUNDO%';

LOCAL UNDOC ENRBLED FALSE

An online RMAN backup of the CDB was taken an hour before Restore Point R1 was created. You want to
recover PDB1 toRestore Point R1. How do you achieve this?

A. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using RMANwhile connected to PDBL1.

B. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using SQLwhile connected to PDB1.

C. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using SQLwhile connected to CDB$ROOT.
D. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using RMANwhile connected to CDB$ROOT.
E. This cannot be done due to the lack of aclean restore point.

Answer: B
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NEW QUESTION 10
Which two are true about Rapid Home Provisioning (RHP), which has been available since Orcale 18c? (Choose two.)

A. Itis an Oracle Database service

B. It cannot be usedto upgrade Oracle Database homes.

C. It can be used to provision applications.

D. It can be used to patch Grid Infrastructure homes containing Oracle Restart.
E. It can be used to provision middleware.

Answer: DE

NEW QUESTION 10
Which two are true about duplicating pluggable databases (PDBs) with RMAN? (Choose two.)

A. Two or more PDBs can be duplicated with the same RMAN DUPLICATE command.

B. All tablespaces belonging to a PDB must be duplicated when duplicating the PDB.

C. The auxiliary instance is automatically created with ENABLE_PLUGGABLE_DATABASE = TRUE.
D. A user with SYSDBA or SYSBACKUP must be logged in with RMAN to the PDB to duplicate it.

E. CDB$ROOT and PDB$SEED are automatically duplicated.

Answer: CD

NEW QUESTION 13

Examine this output:
SQL> select pluggable database, shares, parallel server limit
2 from dba cdb rsrc plan directives where plan = ‘MY PLAN'

3 order by plugaable database;

PLUGGABLE DATABASE SHARES PARATLEL SEEVER LIMIT
ORASAUTOTASE 100
OFRASDEFAULT PDB DIRECTIVE 1 0
PDEL 2 100
EDEZ 2 25
PDB3 1
SQL> select name, wvalue from vSparameter

Z where name = ‘resource manager plan’;
NAME VATLUE
resource manager plan MY PLAN

Which two are true? (Choose two.)

A. Any PDB not specified in the plan will be unable to execute statementsin parallel.

B. PDB3 can use all available parallel execution processes at times.

C. PDBL1 is always limited to 40% of the available system resources regardless of demand.

D. Any PDB not specified in the plan will be able to use a maximum of 16.5% of the available system resources.
E. PDB3 is guaranteed to receive at least 20% of the available system resources if there is enough demand.

F. PDB2 is guaranteed at least 25% of the available parallel execution processes if there is enough demand.

Answer: AE

NEW QUESTION 15
How do you configure a CDB for local undo mode?

A. Open the CDB instance in upgrade mod

B. In cdb$root, execute alter database local undo on, and then restart the CDB instance.

C. Open the CDB in read-only mod

D. In cdb$root, execute alter database local undo on, and then change the CDB to read/write mode.
E. Open the CDB instance in restricted mod

F. In cdb$root, execute alter database local undo o

G. create an undo tablespace in each PDB, and then restart the CDB instance

H. Open the CDB instance in restricted mod

I. In cdb$root, drop the undo tablespac

J. Execute alter database local undo on in each PDB, and then restart the CDB instance.

K. Open the CDB instance in upgrade mod

L. In each PDB, execute alter database local undo on, create an undo tablespace, and then restart the CDB instance.

Answer: D
NEW QUESTION 17
Which three actions are performed by Database Upgrade Assistant (DBUA)? (Choose three.)

A. It recompiles all stored PL/SQL code by using utlrp.sql.
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B. It empties the RECYCLE BIN.

C. It performs prerequisite checks to verify if the Oracle database is ready for upgrade.
D. It sets all user tablespaces to “read-only” before starting theupgrade.

E. It removes the AUDSYS schema and the AUDIT_ADMIN and AUDIT_VIEWER roles
F. It increases tablespace size, if required, to meet upgrade requirements.

Answer: ACF

NEW QUESTION 22
Examine this configuration:

> CDB1is a container database.

> COMMON_USER_PREFIXisCH##.

> PDB1is a pluggable database contained inCDB1.

> APP1_ROOQTis an application container contained inCDB1.

> APP1_PDBL1is an application PDB contained inAPP1_ROOT.
You execute these commands successfully:

$ sglplus sys/oracle 4U@localhost:1521/cdbl as sysdba

SQL> CREATE USER c##userl identified by oracle 4U container=all;
User created.

SQL> ALTER SESSION SET CONTAINER=pdbl;
-;c ; ;

- —

CREATE USER pl userl identified by oracle 4U;

SQL> ALTER SESSION SET CONT}L:NER=app-1_rGCt;
Session altered.

SQL> ALTER PLUGGABLE DATABASE APPLICATION appl cdbl app BEGIN INSTALL ‘1.0':

Session altered.

SQL> CREATE USER appl_userl IDENTIFIED BY oracle_ 4U;
User Created.

SQL> ALTER PLUGGABLE DATABASE APPLICATION appl cdbl app END INSTALL '‘1.07;
Pluggable database altered.

Which two are true? (Choose two.)

A. APP1_USER1 can be created in PDBL1.

B. APP1_USER1 can be created in CDB1.

C. APP1_USERI1 canhave different privileges in each Application PDB contained in APP1_ROOT.
D. C##_APP_USER1 can be created in CDB1.

E. P1_USER1 can be created in CDBL1.

F. C##_USER1 will have the same privileges and roles granted in all PDBs in CDB1.

Answer: CF

NEW QUESTION 27

Examine this command:

$ rhpctl move database —sourcehome Oracle_home_path —destinationhome Oracle_home_path For which two purposes can you use this command? (Choose
two.)

A. to switch an existing Oracle Database home to anewer release of Oracle software on the same server
B. to switch to a read-only Oracle home

C. to switch back to the previous Oracle home as part of a rollback operation

D. to switch the Oracle Database home when using a centralized Rapid Home Provisioningserver

E. to switch to a patched Oracle Database home

Answer: CE

Explanation:

You can use rhpctl move gihome command with the same syntax to switch from the current Oracle Grid Infrastructure home to a patched home. The rhpctl
command enables you to switch from your current Oracle Grid Infrastructure or Oracle Database home to patched Oracle home so that you can provision the new
Oracle home as gold image. You can also use the rhpctl command to switch back to the old Oracle home, if you want to roll back the operation.

NEW QUESTION 31
Which three are true about thresholds, metrics, and server-generated alerts? (Choose three.)
A. All metrics are instance related.

B. Cleared statefulalerts are displayed by querying DBA_ALERT_HISTORY.
C. A space usage management alert is automatically cleared after the underlying problem is resolved.
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D. They are generated by SMON when a tablespace is 97% full.
E. Metrics are statistical counts for aspecific unit.
F. STATISTICS_LEVEL must be set to ALL to generate alerts.

Answer: BCE

NEW QUESTION 32
Which two are true about RMAN encryption? (Choose two.)

A. RMAN encryption keys are stored in a database keystore.

B. RMAN can encrypt the Oracle Database password file.

C. Dual-mode encrypted backups can be restored only if boththe password and the keystore used for encryption are available.
D. The SET ENCRYPTION command overrides encryption settings specified by the CONFIGURE ENCRYPTION command.
E. Password encryption can be persistently configured using the CONFIGUREENCRYPTION command.

Answer: CD

NEW QUESTION 37
Which two are true about RMAN duplexed backup sets? (Choose two.)

A. A duplexed backup set uses the same number of SBT channels as a non-duplexed backup set for the same number of files.
B. A non-duplexed backup set written to disk can be duplexed to disk bybacking up the backup set that is already on disk.

C. A non-duplexed backup set written to SBT can be duplexed to tape by backing up the backup set that is already on tape.

D. A non-duplexed backup set written to disk can be duplexed to tape by backing upthe backup set that is already on disk.

E. A non-duplexed backup set written to SBT can be duplexed to disk by backing up the backup set that is already on tape.

F. A duplexed backup set always uses twice as many SBT channels as a non-duplexedbackup set for the same number of files.

Answer: DF

NEW QUESTION 38
Which four are true about performing Tablespace Point -In-Time Recovery (TSPITR) using Recovery Manager (RMAN)?

A. It can be performed using anauxiliary instance managed by a DBA.

B. It can be used to recover a truncated table.

C. RMAN automatically adds any required tablespaces to the recovery set to make it self-contained.
D. RMAN always includes tablespaces containing undo segments in the recovery set.

E. It can be performed repeatedly until the correct time is found without using an RMAN catalog.

F. flashback database must be enabled for it to work.

G. It can be used to recover a dropped tablespace.

H. It can be performed using an auxiliary instance managed by RMAN.

Answer: AEFH

NEW QUESTION 41
Which three are true about requirements for various FLASHBACK operations? (Choose three.)

A. FLASHBACK transaction query requires undo to retrieve all versions of a row that existed between two points in time.
B. FLASHBACK drop requires thatthe RECYCLEBIN parameter be set to ON.

C. FLASHBACK version query requires that the RECYCLEBIN parameter be set to ON.

D. FLASHBACK DATA ARCHIVE requires undo to store all versions of all rows of a table being tracked.

E. FLASHBACK drop requires undo to retrieve all versions of a row that existed between two points in time.

F. FLASHBACK version query requires undo to retrieve all versions of a row that existed between twopoints in time.

Answer: ABF

NEW QUESTION 43

Examine thisconfiguration:

* 1. CDBL1 is a container database running in archivelog mode.

* 2. Multiple uncommitted transactions are running in CDB1.

* 3. Redo log groups 1 and 2 are inactive.

* 4, Redo log group 3 is the current group.

All members of redo log group 3 arelost before it is archived. Examine these possible steps:
*1. SHUTDOWN ABORT

* 2. STARTUP NOMOUNT

* 3. STARTUP MOUNT

*4. ALTER DATABASE MOUNT

*5. RESTORE DATABASE

* 6. RECOVER DATABASE NOREDO

* 7. RECOVER DATABASE UNTIL AVAILABLE

* 8. RESTORE ARCHIVELOG ALL

*9. ALTER DATABASE OPEN

*10. ALTER DATABASE OPEN RESETLOGS

Choose the minimum required steps in the correct order to recover the database.

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 1z0-083 dumps

@ 2 P QsseaqQs LJ https://lwww.2passeasy.com/dumps/1z0-083/ (282 New Questions)

4,10
, 10

mm

1,2,57
1,3,57

Answer: D

NEW QUESTION 44
Automatic Shared Memory Management is disabled for one of your database instances.

SomeSQL statements perform poorly due to excessive hard parse activity, thereby degrading performance. What would be your next step?

A. Run the SQL Access Advisor.

B. Run the Memory Advisor for the shared pool.

C. Run the SQL Tunning Advisor.

D. Run theMemory Advisor for the Program Global Area.
E. Run the Memory Advisor for the System Global Area.

Answer: B

NEW QUESTION 47
Oracle Managed Files (OMF) is enabled in a CDB and thiscommand is successfully executed:
CREATE PLUGZGABLE DATABASE appl

A2 APPLICATION CONTAINEER

ADMIN USER adminl IDENTIFIED BY app 123 ROLES=(CONNECT) ;

Which three are true? (Choose three.)

A. Application PDBs that are subsequently created in the APP1 application container will be cloned from APP1$SEED.

B. An application seed PDB is created for APPL1.

C. An application root PDB is created for APP1.

D. A default service is created for the application root APP1.

E. Application PDBs that are subsequently created in the APP1 application container will be cloned from PDB$SEED.
F. APP1 can never be unplugged.

Answer: ABE

NEW QUESTION 49

Which three are true about Automatic Workload Repository (AWR)? (Choose three.)

A. By default, AWR snapshots are taken every 60 minutes.

B. Its collection level is determined by the value of theSTATISTICS_LEVEL database parameter.
C. By default, AWR snapshots are retained for 7 days.

D. The taking of AWR snapshots can be disabled.

E. AWR data is stored in the SYSTEM tablespace.

Answer: ABD

NEW QUESTION 54

You must transport the UNIVERSITY tablespace from one database to another. The UNIVERSITY tablespace is currently open read/write.

The source and destination platforms have different endian formats. Examine this list of actions:
* 1.Make the UNIVERSITY tablespace read-only on the source system.
* 2. Export the UNIVERSITY tablespace metadata using EXPDP.

* 3. Convert the UNIVERSITY tablespace data fies to the destination platform format using RMAN on the source system.

* 4. Copy the UNIVERSITY tablespace data files to the destination system.
* 5.Copy the Data Pump dump set to the destination system.

* 6. Convert the UNIVERSITY tablespace data files to thedestination platform format using RMAN on the destination system.

* 7. Import the UNIVERSITY tablespace metadata using IMPDP.
* 8. Make the UNIVERSITY tablespace read/write on the destination system.
Which is the minimum number of actions required, in the correct order, to transport the UNIVERSITY tablespace?
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Answer: B

NEW QUESTION 58
Examine this configuration:

1. CDB1 is a container database running in ARCHIVELOG mode.

2. Controffiles of CDBE L are multiplexed in
‘/ulbl/app/oracle/oradata/CDBl/controlfile/controlfile0l.ctl” and
‘/ul2/app/oracle/fast recover area/cdbl/CDBl/controlfile(2.ctl’.

3. The only backup of CDB1 was taken when CONTROLFILE AUTOBACK was OFF

4 SNAPSHOT CONTEOLFILE NAME is
‘full/app/oracle/product/12.2.0.1/db 1/dbs/snapcf cdbl.f’.

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 1z0-083 dumps

@ 2 P QsseaqQs LJ https://lwww.2passeasy.com/dumps/1z0-083/ (282 New Questions)

WhileCDB1is open,‘/u02/app/oracle/fast_recover_area/cdbl/CDB1/controlfile02.ctl'is accidentally deleted. To recover from this critical failure, you execute these
commands:

$ rman target sys/oracle 4URlocalhost:1521/cdbl
EMAN> SHUTDOWN AROERT

Oracle instance shut down

EMAN> STAERTUP NOMOUNT

EMAN ERESTOERE CONTEOLFILE FEREOM
‘/ull/app/oracle/oradata/CDBl/controlfile/controlfilell.ctl’ ;

What will be the outcome?

A. It will create ‘SORACLE_HOME/dbs/cdb1/CDB1/controlfile02.ctl’

B. It will create ‘/u0l/app/oralce/oradata/CDB1/controlfile/controlfile02.ctl’.

C. It will re-create ‘/u02/app/oracle/fast_recover_area/cdb1/CDB1/controlfile02.ctl’

D. It will create ‘/u01/app/oracle/product/12.2.0.1/db_1/dbs/snapcf_cdblcontrol02.ctl'.
E. It will fail because there is no autobackup of the controlfiles.

Answer: C

NEW QUESTION 60
Which two are true about the Automatic Database Diasnostic Monitor (ADDM)? (Choose two.)

A. It analyzes a period of time corresponding to the 12 hours of activity.
B. It runs automatically after each AWR snapshot.

C. A DBA can run it manually.

D. Results are written to the alert log.

E. It analyzes a period of time corresponding to the last day of activity.

Answer: BC

NEW QUESTION 65

Examine this configuration:

* 1.The ORCL database data files are in Automatic Storage Management (Oracle ASM) disk group +DATA. * 2.0RCL uses disk group +FRAfor the Fast Recovery
Area.

* 3. LISTENER is the listener for ORCL.

* 4. The database, listener, ASM instance, and ASM disk groups are managed by Oracle Restart. 5.All components are currently shut down.

You execute this command:

S srvectl start database —-d ORCL

What is the outcome?

A. The ORCL database, the Oracle ASM instances, the +DATA and +FRA disk groups, and the LISTENERare started.
B. Only the ORCL database instance is started.

C. Only the ORCL database and the ASM instances are started.

D. Only the ORCL database instance, the Oracle ASM instance, and the +DATA and +FRA disk groups are started.

E. Only the ORCL database instance and the +DATA and +FRA disk groups are started.

Answer: D

NEW QUESTION 66
Examine this configuration:

> CDBLlis a container database.
> PDBlandPDB2arepluggable databases inCDBL1.

> PDBlandPDB2areOPENINREAD WRITEmode.
You execute these commands successfully:

5 export ORACLE SID=CDBI1
5 sglplus / as sysdba

SQL> ALTEER SESSICHN SET CCOHNTAINEE = PDBL;
Session altered.

SQL> SHUTDOWN IMMEDTATE

Which two are true? (Choose two.)

A. Uncommitted transactions in PDB1 have been rolled back.

B. PDB1 is closed.

C. Uncommitted transactions in CDB1 and PDB1 have been rolled back.
D. CDBL1 is shut down.

E. CDB1 is in MOUNT state

Answer: AB
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NEW QUESTION 70
The USERS tablespace consists of data files 3 and 4 and must always be online in read/write mode.
Which two are true about using RMAN to perform an open database back up of this tablespace? (Choose two.)

A. Backups must be doneincrementally.

B. Backups must be contained in backup sets.

C. Backups can be taken only if the database is in ARCHIVELOG mode.
D. Backups can be done incrementally.

E. The database must be registered in an RMAN catalog.

F. Only consistent backups can becreated.

Answer: CE

NEW QUESTION 72
Which three are true about monitoring waits for sessions and services? (Choose three.)

A. V$SESSION_EVENT displays all waits for all past and existing sessions if the wait has occurred at least once for a session.

B. V$SERVICE_EVENT displays all waits for all services if the wait has occurred at least once for a service.

C. V$SESSION_WAIT_CLASS displays waits broken down by wait class only for waiting sessions.

D. VSSESSION_WAIT and V$SESSION both contain details of the event on which a non-waiting session last waited.
E. V$SESSION_EVENT displays all waits for all past sessions if the wait has occurred at least once for a session.

F. V$SESSION_WAIT and V$SESSION both contain details of the event on which a session is currently waiting.

Answer: BDE

NEW QUESTION 75

Which two are true about unplugging an application container from a container database and plugging it into a different container database?

A. It requires local undo mode in both container databases.

B. It requires only local undo mode in the database where the application container will be unplugged.

C. Plugging the application root into a different CDB plugs In all its application PDBs.

D. Application PDBs In the application container must beunplugged before the application root Is unplugged.
E. Unplugging the application root from a CDB unplugs all its application PDBs.

F. The application root of an application container should be plugged Into the other CDB before Its application PDBs are plugged in.

Answer: DE

NEW QUESTION 80
A database is configured in ARCHIVELOG mode.

A full RMAN backup exists but no control file backup to trace has been taken. A mediafailure has occurred. In which two scenarios is incomplete recovery

required? (Choose two.)

A. after losing a SYSAUX tablespace data file

B. after losing all members of an INACTIVE online redo log group
C. after losing all members of the CURRENT onlineredo log group
D. after losing all copies of the control file

E. after losing an UNDO tablespace that is in use

Answer: BD

NEW QUESTION 85
Which four are true about a Recovery Manager (RMAN)duplication without a TARGET connection? (Choose four.)

A. The NOREDO clause must be used if the backups of the database being duplicated were taken when the database was in NOARCHIVELOG mode.

B. The UNDO TABLESPACE clause is always required when no connection exists to the TARGET instance.
C. RMAN “pushes” the backups of the database to be duplicated over the network to the auxiliary instance.

D. The NOREDO clause can be used if the backups of the database being duplicated were taken when the database wasin ARCHIVELOG mode.

E. RMAN SBT-based backups of the database to be duplicated can be used by the auxiliary instance.

F. The UNDO TABLESPACE clause is always required when no connection exists to the recovery catalog and the TARGET database is closed.
G. The UNDO TABLESPACE clause is always required when no connection exists to the recovery catalog and the TARGET database is opened.

H. RMAN disk-based backups of the database to be duplicated can be used by the auxiliary instance.

Answer: ABGH

NEW QUESTION 87
Which three are true about the SQL Tuning Advisor? (Choose three.)

A. It checks each query being analyzed for stale statistics.

B. It checks each query being analyzed for missing statistics.

C. It only recommends syntactic changes to SQL statements.

D. It can recommend semantic changes to SQL statements.

E. It considers all SQLstatements being analyzed by the advisor task as a group.

. It builds SQL profiles for each poorly performing SQL statement to prevent regressions.

T

Answer: ABF
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NEW QUESTION 90

While backing up to an SBT channel, you determine that the read phase of your compressed Recovery Manager (RMAN) incremental level O backup is a
bottleneck.

FORCE LOGGING is enabled for the database.

Which two could improve read performance? (Choose two.)

A. Increase the size of tape I/O buffers.

B. Disable FORCE LOGGING for the database.
C. Increase the size of the database buffer cache.
D. Enable asynchronous disk I/O.

E. Increase the level of RMAN multiplexing.

Answer: DE

NEW QUESTION 91
Which two are true about creating RMAN backups for an Oracle container database? (Choose two.)

A. Tablespaces from different PDBs with identical names must be backed up by connecting RMAN separately to each PDB to back up the tablespaces.
B. The BACKUP DATABASE command will create a pluggable database (PDB) backup when RMAN is connected to a PDB.

C. SPFILEbackups can be created while connected to an application root PDB.

D. The BACKUP DATABASE PLUS ARCHIVELOG command will back up archive logs when RMAN is connected to a PDB.

E. The BACKUP PLUGGABLE DATABASE command can be used to back up CDB$ROOT.

Answer: AB

NEW QUESTION 96

Your container database, CDB1, has an application container, HR_ROOT, with an application PDB, HR_PDB1.

You have the required privilege to clone HR_PDBL1 to container database CDB2, which does not contain HR_ROOT.
Which two are always true? (Choose two.)

A. CDB1 and CDB2 must be in shared undo mode.

B. A common user must exist in CDB2 with the CREATE PLUGGABLE DATABASE privilege.
C. All transactions in HR_PDB1 of CDB1 must commit before the cloning process starts.

D. Cloning HR_ROOT automatically clones HR_PDB1.

E. The HR_PDBL1 clone created in CDB2 will be in mount state when cloning ends.

Answer: BD

NEW QUESTION 99
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